QUIZ 20: LESSON 30 |

0x or circle aroun

ver to you.

5 pts] Solve the system of equations
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y indicate the question you are answering, and
_circle around your final answer. If you do not clearly indi-
_question numbers, I will take off points. Write as much work
need to demonstrate to me that you understand the concepts
olved. If you have any questions, raise your hand and I will come
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2. [5 pts] Suppose a goldsmith has two alloys of gold:
— Alloy A has a gold purity of 72%

— Alloy B has a gold purity of 86%

The goldsmith mixes x grams of Alloy A With'y grams of Alloy

B such that he obtains 50 grams of Alloy C, which has a gold
purity of 80%. Find x to the nearest gram.
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